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Time Allowed : Three Hours Maximum Marks : 300

INSTRUCTIONS

Each question is printed both in Hindi and
in English.

Answers must be written in the medium
specified in the Admission Certificate issued
to you, which must be stated clearly on the
cover of the answer-book in the space
provided for the purpose. No marks will be
given for the answers written in a medium
other than that specified in the Admission
Certificate. -

Candidates should  dttempt Questions no. 1
and 5 which are compulsory, and any three
of the remaining questions selecting at least
one gquestion from each Section.

All questions carry equal marks.
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SECTION A
1. Write short notes on any three of the following (Each
note should not exceed 200 words) : : 3Ix20=60
(a) Problems of cbjectivity in sociological research

(b) Subject-matter of Sociology, according to Emile
Durkheim

(¢) Comparison between Sociolegy and Economics

(@) Talcott Parsons’ idea of ‘moving equilibrium’

2. (a) Distinguish between probability and
non-probability sampling methods. How many

tvpes of sampling designs are there ? 30
(b) Comment on the responses of the

functionalist-school to Karl Marx’s views on social
change. 30

3. (a) Comment on the reasons why neo-idealists and
symbolic interactionists are critical of ‘positivism’

in Sociology. 30

{(b) What are the reasons for calling Kingsley Davis
and Wilbert Moore’s theory of social stratification
a functional theory 7 30

4. To Robert Merton, deviant behaviour is a result of
anomie. Analyse his sociclogical theory of deviant
behaviour, with a special reference to his formulation
of types of deviance. 60
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1. fr=fafaa § @ 5 dy w dfea fewfor fafag o
(ﬁéﬁﬁmﬁzoomﬁﬁmﬁqﬁﬁ?ﬁil};o "
(F) TOERRIET U | aegfred & auey
(@) e gEin F IguR wAeERrE #EEE-aeg
(M) wESE R SdeTE F S ger
(7) 2ewic qEA T NfaAE araERer w1 fEn

2. (F) WAEar AR wiigwaar wfa=aa Gl & &=
fades S | Sfagas el & faaa 9K
g ? 30
(@) gEfss gfadd W e aed & fa=d & ufg
THEHAR-gagE H Aghasil 9t ferouit SHifsg 1 30

3. (&) Aa-3eviaical 3t ydisheas =i aratiaal
F woenTE § YowmEe & selds gF &
FHIoN 9T fewof Sifea | 30
(@) IIfss Wi H Fraa Sfaw oik fesd 1
F e & s YeEiaTes A @R W % o=
T & ? 30

4. a2 wdq & FqER, faamm= sgEgr Afqur=gEadar
o @t 2 1 faum s=mEsR @ 3w
AT g w1, fGamraa F SRR 36
freuer =1 fard garen <d gy, favawm S | 60
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SECTION B

5. Write short notes on any three of the following (Each

note should not exceed 200 words) :

{(a) C. W, Mills’ Power Elite

(b) Industrialization and changes in the family’s
functions

(c) Secularization of societies in the modern world

{(d) Structure of a social movement

6. (a) Comment on the critics’ charge that Immanuel
Wallerstein’s dependency thecory is simplistic and
wrong.

{b) What, according to Max Weber, is the role of
“particular religious ideas” in the emergence of
modern capitalism ?

7. “Science without religion is lame. Religion without

science is blind.” Comment on this statement critically

in the light of emerging sociological contexts in Europe,
USA and India.

8. Discuss the emerging forms of marriage and family
with examples from the West and the East. Can there
be family without marriage ? Examine.
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5. Trafafaa ¥ @ el dfy W dfrg fewfori fafag |
(g off feogoit 200 wT | Sarer ¥ 9@ S+ aifgw)

o 3%20=60
(%) sy, fred ¥ Wt Suid

(@) 3fterieT 3R ofEr & Yol § 9fiEds

(1) Myt fava ¥ woen & adfadeitesor

() gmifas 9 &l §=AT

6. (F) A & I AW, fF yRa acreizd &t
anggar A sifaaeaE ik Tod 2, W

feauit =HifSq | . 30
(m) rgfas dSiare & Sgua ®, d99 I & IguR
“fafyre affs faai’” = =91 gfagsr @ 2 30

7. ‘i F fam fag= der @ W faga & faar g ofwn
2 1” g9, . uE.T, IR 9Rg ¥ IWd g SuNRnE
el & 9Nl ¥, 3 S99 W gueieAres  foouf
HINT | 60

8. uf¥=w IR gd ¥ IFEWT AWI HW gE, fHEw I
ofER & I gL w4 9T ==t HSg 1 T2 foqmw +
fr afar & wwar 2 2 gdwer i | 60
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i goe quifas : 300

<25 L
ged g9 fa<l 3k siastt e 7 sur 8/
gogl & 397 39 "Hremw §F for@ s oifér
fGraer Ieoiad 3i9as maer-ug d fear mar &
R g9 HregH &I WG Jovid IJTR-YFID B
e g5 o7 Sifea Hide e g7 fsar s
TIfEe | 9397-9F g7 IfeerlRaa #areaw & 3falRs
37 faat aregy d ford 7 3% 9 BlE 3id
Fe1 a7 |
gog @y 1 3k 5 3ifhard & | sl goar 7
T gdG @UE F FHH-H-HH & H9T gIADBY
fobsl 7 go=t 3 37 5w |/
a4 got & siF waT & |

Note :

English version of the Instructions is printed on
the front cover of this question paper.
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SECTION A

1. Write short notes on any three of the following in
not more than 200 words each in sociological
perspectives : ) 20x3=60

(a) Indological perspective of G.S. Ghurye
(b) Emergence of middle class in India
(¢} Dynamics of Dalit movement

{d) Colonial hangover and its social impact

2. (a) What has been the impact of globalisation on the
cultural aspect(s) of the family ? 30

(b)) Comment on the changes in the household
dimensions of family under modern economic
reforms. 30

3. What are the main principles of the
structural-functional perspective 7?7 Comment on the
suitability of applying this perspective to the study of
Indian society. 60

4. Comment in about 300 words each on the following :
30x2=60

(a) Changes that the agrarian social structure in India
is undergoing.

(b} Can religion form a sufficient basis of forming
cultural identity in India ?
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1. frafafag #§ | 58 &y W 99 gitieg 3§
g fewfori fofi@w, |1 T8 200 YI5) @ U H
T B afey . 20x3=60

(F) Shug. gF &1 qadmas w93

(@) 9d § w=m T w1 39

() TfAq IereH & e

) .ﬁqﬁéﬁﬁaﬂwﬁmaﬁimwﬁam

2. (%) UER F Qipfds UeT (Ia) 9T STAHIT T

T @ 8 7 30
(@) Y1 s Fgualil & anf 9fEr & =
g § uftgaar o fewoft S | 30

8. WEATHE-YHAiE Heyl & wyw fagia wam § 02
AT AT o 3Ted+ U 3H HQI Bl AN HA A
IYghal W feoui wifsig | 60

4, fr=fafga O 9 9 W ST 300 v § fewodt
fafgw 30%x2=60

(F) TRa H Fuyfs wmfees @A § @ @
gfgda |

(@) ¥ 9rid ® witgfas 9guH & fmior F ud ww
Ty 3R 99 Tehal @ 7
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SECTION B

B. Write short notes on any three of the following in
not more than 200 words each in sociological
perspectives : 20x3=60

(a) Law and social change
{(b) New rural elite and leadership
(c¢) Fertility and population growth

(d) Possibilities of slum reform

6. Answer the following, limiting your answer to
300 words each : 30x2=60

(a) Comment on the influence of social and cultural

factors on family planning in India.

{b) Ewvaluate the success of Indian peasant movements
in achieving their goals.

7. (a) In the context of the caste system, critically
examine Louis Dumont’s concept of purity and
pollution. 30

(b) Comment on the sociological impact of
globalization on people working in the Informal
sector. 30

8. Do you think that poverty, deprivation and inequalities
are the major challenges in the process of social
transformation ? What are your suggestions to address
and resolve these problems ? 60
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5. frodafafEa § ¥ &2 &7 W a9uswnsEy gfteg o
dfera fewfirat fafEw, st & 200 3= @ <9 §

8 8T =nfau 20x3=60

(%) fafy =it gmfss qftada
(@) == anfivr gyig ek Age
(M) A IR SAEE d9fg
(%) 7 ad gER I GraAand

6. Tr=fafga O ¥ 9= =1 3T 300 II=E =7 @1 & =9

(%) Id H g s w© awfss @ agfas
HEH & T ) feogo)) Fifsa |

(@) 9Ra ¥ & Aaia-l & 3193 o8d) HY 9T hed
4 UhAdT & HeAihd HiSrT |

7. (F) fa war F wWeW W, T SGAHT F YAl S
AGHUT  H  HHOIAl  H HHICIEATHS  UOe
RIS
(@) AT 89w § SEfie ot W) dydisoT &
SIS 99 9 feogoll SHifsy |

8. T aNus fa=mR H fofaen, dfadar ot sawad
mISE EARReT & WA H wgE Eifaal @ 2 34
IR W SR I3@ 81 R 3% wEwH e
F W SNUS 94 g § 2
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g
gw go et ik st el F oar &
gogi & 3O} 39 mregE H o s anfer
f5rgepr 3eeig 39a Ha9r-gF H far mar &
3R 59 HEGH & W IoorE JOR-gwid D
9E g5 R 3ifda f[Afde werT o) far smar
gifer | 9397-97 3 3fccilRad Jrea#d a5 3ifake
=7 fas&t aregy & forg 7 397 9] BiE 3P
Fet a7 |
g7 Gr 1 3R 5 3ifFard & | st gur 7
q T @Ug W HH-O-BH BB HIT gIBY
fast el goar & 3a< 5T /
T go] &5 b GHEIT & |

Note :

English version of the Instructions is prinfed on
the front cover of this question paper.




